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QUESTION 1

A customer creates Layer 3 connectivity to the outside network. However, only border leaf switches start receiving
destination updates to other networks from the newly created L3Out. The updates must also be propagated to other
Cisco ACI leaf switches. The L30ut is linked with the EPGs via a contract. Which action must be taken in the pod policy
group to accomplish this goal?

A. Apply a BGP route reflector policy.

B. Enable a COOP policy.

C. Configure an I1S-IS policy.

D. Implement an access management policy.

Correct Answer: A

QUESTION 2

An engineer must advertise a bridge domain subnet out of the ACI fabric to an OSPF neighbor. Which two configuration
steps are required? (Choose two.)

A. Add External Subnet for External EPG flag under External EPG

B. Configure Subnet scope to Advertised Externally

C. Configure the Subnet under the EPG level

D. Create Route Control Profile with the export direction under External EPG
E. Add L3Out profile to the bridge domain using Associated L3Outs section
Correct Answer: BE

https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-infrastructure/guide-
c07-743150.html#3AdvertiseinternalroutesBDsubnetstoexternaldevices

The key points here are as follows:

1.

Mark a BD subnet with an “Advertised Externally” scope.
2.

Associate the BD with the L30ut(s) that need(s) to advertise the BD subnet to the outside.

QUESTION 3
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An engineer must add new servers to a Cisco ACI cluster and configure ports to accept the new servers. The existing
servers are dual-homed to Leaf101 and Leaf102 using ports 1-3 and an interface policy group called clusterl_ifpg. The
new servers must use ports 1 and 2 on Leaf103 and Leaf104. Which two actions must be taken to enable the ports with
the same configuration as the existing servers in the cluster? (Choose two.)

A. Attach interface selectors to leaf profiles Leaf103 and Leaf104.

B. Use interface selector for clusterl_infpg.

C. Connect with interface selector using a new AEP.

D. Configure interface selector using a new interface policy group.

E. Select ports 1 and 2 using interface selectors.

Correct Answer: AE

QUESTION 4

All workloads in VLAN 1001 have been migrated into EPG-1001. The requirement is to move the gateway address for
VLAN 1001 from the core outside the Cisco ACI fabric into the Cisco ACI fabric. The endpoints in EPG-1001 must route
traffic to endpoints in other EPGs and minimize flooded traffic in the fabric. Which configuration set is needed on the
bridge domain to meet these requirements?

A. Enable Flood Enable Unicast Routing

B. Disable Local IP Learning Limit Disable Unicast Routing

C. Disable ARP Flood Disable Limit Endpoint Learning

D. Enable Hardware Proxy Enable Unicast Routing

Correct Answer: D

QUESTION 5

An engineer must connect a new host to port 1/1 on Leaf 101. A Cisco ACI fabric has an MCP policy configured but
experiences excessive Layer 2 loops. The engineer wants the Cisco ACI fabric to detect and prevent Layer 2 loops in
the fabric. Which set of actions accomplishes these goals?

A. Enable MCP locally. Associate the MCP policy with an interface policy group.

B. Enable MCP locally. Associate the MCP policy with an interface profile.

C. Enable MCP globally. Associate the MCP policy with an interface selector.

D. Enable MCP globally. Associate the MCP policy with an interface policy group.

Correct Answer: D
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